Prepared by EHS Solicitation #	s # B-12-029-DD Co	ntract Id: C	-12-036-DD			LLC		rp.	
SAN ANTONIO WATER SYSTEM				LC.				Corp.	
		P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS		Austin Constructors, L. 7907 S. FM 973 Austin, TX 78617		Construction & Rehab, 131 N. Richey Pasadena, TX 77506		National Power Rodding 9810 FM 969 Austin, TX 78724	
PROPOSAI	L:	Job No. 12-0109 (O&M) & 12-1402 (CIP)							
		2012 Annual Sanitary Sewer Main Point Repair and							
		Manhole Adjustments - Package 2		Austi		PM Cons		National A	
TIME &		11:00 A.M.							
DATE:	· ·								
Itom No		Unit of	Description	II	T-4-1	II:4 D:	T-4-1	II	T-4-1
103.1	Estimate Qty 125.00	Issue LF	Description Remove Concrete Curb	Unit Price \$3.00	<b>Total</b> \$375.00	Unit Price	<b>Total</b> \$625.00	Unit Price	<b>Total</b> \$250.00
103.1	150.00	SY	Remove Sidewalks and Driveways	\$8.00	\$1,200.00	\$5.00 \$9.00	\$1,350.00	\$2.00 \$7.00	\$1,050.00
200	50.00	SY	Flexible Base (Complete in place)	\$28.00	\$1,200.00	\$50.00	\$2,500.00	\$47.00	\$2,350.00
203	50.00	GAL	Tack Coat	\$30.00	\$1,500.00	\$36.00	\$1,800.00	\$11.00	\$550.00
203	20.00	OriL	Hot Mix Asphalt Concrete Type "D" Two	Ψ30.00	Ψ1,500.00	ψ30.00	Ψ1,000.00	Ψ11.00	ψ330.00
205.4	500.00	SY	(2) Inch Thickness	\$45.00	\$22,500.00	\$40.00	\$20,000.00	\$123.00	\$61,500.00
	2 3 3 1 3 3		Salvage, Haul, Stockpile Asphalt Concrete	+ 12111	7-2,00000	¥ 10000	,,,	7.22.00	+,
208	40.00	CY	Pavement	\$20.00	\$800.00	\$41.00	\$1,640.00	\$11.00	\$440.00
500.1	100.00	LF	Concrete Curbing	\$10.00	\$1,000.00	\$13.00	\$1,300.00	\$36.00	\$3,600.00
500.2	25.00	LE	Concrete Gutter	\$12.00	\$200.00	\$22.00	\$550.00	\$26.00	\$000.00
500.3 502.1	25.00 50.00	LF SY	Concrete Sidewalks	\$12.00 \$38.00	\$300.00 \$1,900.00	\$22.00 \$45.00	\$550.00 \$2,250.00	\$36.00 \$55.00	\$900.00 \$2,750.00
503.1	75.00	SY	Concrete Driveways	\$42.00	,		\$5,550.00		
503.2	50.00	SY	Commercial Driveways	\$68.00	\$3,400.00	\$82.00	\$4,100.00	\$94.00	\$4,700.00
508	200.00	LF	Relocate Fence	\$24.00	\$4,800.00	\$22.00	\$4,400.00	\$55.00	\$11,000.00
511.3.1	50.00	SY	Cutting and replacing pavements (10" ATB & 3" HMAC)		\$4,500.00	\$75.00	\$3,750.00	\$218.00	\$10,900.00
511.3.2	50.00	SY	Cutting and replacing pavements (6" ATB & 2" HMAC)	\$80.00	\$4,000.00	\$64.00	\$3,200.00	\$167.00	\$8,350.00
515	25.00	CY	Topsoil	\$28.00	\$700.00	\$28.00	\$700.00	\$33.00	\$825.00
516.1	50.00	SY	Bermuda Sodding	\$6.50	\$325.00	\$14.00	\$700.00	\$33.00	\$1,650.00
516.2	50.00	SY	St. Augustine Sodding	\$6.50	\$325.00	\$14.00	\$700.00	\$33.00	\$1,650.00
530	50.00	EA	Barricades, Signs and Traffic Handling	\$300.00	\$15,000.00	\$2,000.00	\$100,000.00	\$1,200.00	\$60,000.00
540.9	250.00	LF	Temporary Sediment Control Fence	\$4.50	\$1,125.00	\$4.00	\$1,000.00	\$3.00	\$750.00
550	500.00	LF	Trench Excavation Safety Protection	\$8.00	\$4,000.00	\$4.00	\$2,000.00	\$4.00	\$2,000.00
805	2.00	EA	Traffic Control Plan	\$2,500.00	\$5,000.00	\$1,200.00	\$2,400.00	\$1,400.00	\$2,800.00
805.1	100.00	HR	Police Officer	\$40.00	\$4,000.00	\$40.00	\$4,000.00	\$44.00	\$4,400.00
851	50.00	EA	Adjust Manholes	\$600.00	\$30,000.00	\$400.00	\$20,000.00	\$1,600.00	\$80,000.00
851.1	5.00	EA	Replace Manhole Ring and Cover	\$950.00	\$4,750.00	\$700.00	\$3,500.00	\$1,400.00	\$7,000.00
851.2	150.00	VF	Manhole Coating	\$250.00	\$37,500.00	\$285.00	\$42,750.00	\$300.00	\$45,000.00
854	450.00	LF	Sanitary Sewer laterals	\$30.00	\$13,500.00	\$25.00	\$11,250.00	\$81.00	\$36,450.00

Prepared by EH	S					7.)			
Solicitation # B-12-029-DD Contract Id: C-12-036-DD				_ :		TC		гр.	
		SAN A	NTONIO WATER SYSTEM	TC		b, I	9	Corp.	
P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS			Austin Constructors, LLC 7907 S. FM 973 Austin, TX 78617		PM Construction & Rehab, LLC 131 N. Richey Pasadena, TX 77506		National Power Rodding 9810 FM 969 Austin, TX 78724		
PROPOSAI	τ.	Job No. 12-0109 (O&M) & 12-1402 (CIP)		in Construc 7907 S. FN Austin, TX		N. John Ha, '.		ver ) Fi	
PROPOSAL	L;			Cor Stin		truction 131 N. J adena, Z		Pow 810 štin	
			ual Sanitary Sewer Main Point Repair and	in (		onstructio 131 N. Pasadena,		al F 97 Aus	
		Manhole A	Adjustments - Package 2	Austi		M Con Pa		Tationa A	
TIME &		11:00 A.M	Л.						
DATE:	DATE: May 30, 2012					Į.			
Itom No	Estimate Qty	Unit of Issue	Description	Init Dries	Total	Unit Price	Total	Unit Dries	Total
854.1	40.00	EA	One Way Sanitary Sewer Clean-Out	Unit Price \$275.00	<b>Total</b> \$11,000.00	\$500.00	<b>Total</b> \$20,000.00	Unit Price \$376.00	\$15,040.00
864.1	10.00	EA	Bypass Pumping (8" diameter)	\$2,000.00	\$20,000.00	\$2,000.00	\$20,000.00	\$570.00	\$5,500.00
864.2	5.00	EA	Bypass Pumping (10" diameter)	\$1,500.00	\$7,500.00	\$2,000.00	\$10,000.00	\$660.00	\$3,300.00
864.3	2.00	EA	Bypass Pumping (12" diameter)	\$1,500.00	\$3,000.00	\$2,750.00	\$5,500.00	\$825.00	\$1,650.00
864.4	2.00	EA	Bypass Pumping (15" diameter)	\$2,000.00	\$4,000.00	\$3,000.00	\$6,000.00	\$1,430.00	\$2,860.00
864.5	2.00	EA	Bypass Pumping (18" diameter)	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00
864.6	2.00	EA	Bypass Pumping (21" diameter)	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$2,640.00	\$5,280.00
864.7	2.00	EA	Bypass Pumping (24" diameter)	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00
1103.1	15.00	EA	Open Cut Point Repairs for 8" or 10" Pipe sizes, (0'-10' depth)	\$4,087.00	\$61,305.00	\$3,000.00	\$45,000.00	\$3,000.00	\$45,000.00
			Open Cut Point Repairs for 8" or 10" Pipe						
1103.2	5.00	EA	sizes, (10'-16' depth)	\$4,500.00	\$22,500.00	\$3,000.00	\$15,000.00	\$4,700.00	\$23,500.00
1102.2	2.00	T. A	Open Cut Point Repairs for 8" or 10" Pipe	Φ7,000,00	#10 000 00	Φ2 <b>5</b> 00 00	Φ <b>7</b> ,000,00	Φς 000 00	Φ12 COO OO
1103.3	2.00	EA	sizes, (>16' depth)	\$5,000.00	\$10,000.00	\$3,500.00	\$7,000.00	\$6,800.00	\$13,600.00
1103.4	2.00	EA	Open Cut Point Repairs for 12" or 15" Pipe sizes, (0'-10' depth)	\$4,500.00	\$9,000.00	\$3,000.00	\$6,000.00	\$4,400.00	\$8,800.00
1102 5	2.00	EA	Open Cut Point Repairs for 12" or 15" Pipe		¢10,000,00	¢2,000,00	¢< 000 00	¢ ( 200 00	¢12.400.00
1103.5	2.00	EA	sizes, (10'-16' depth)	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00	\$6,200.00	\$12,400.00
1103.6	1.00	EA	Open Cut Point Repairs for 12" or 15" Pipe sizes, (>16' depth)	\$5,500.00	\$5,500.00	\$4,000.00	\$4,000.00	\$8,600.00	\$8,600.00
			Open Cut Point Repairs for 18" or 21" Pipe						
1103.7	2.00	EA	sizes, (0'-10' depth)	\$5,000.00	\$10,000.00	\$3,800.00	\$7,600.00	\$6,200.00	\$12,400.00
1103.8	2.00	EA	Open Cut Point Repairs for 18" or 21" Pipe sizes, (10'-16' depth)	\$5,500.00	\$11,000.00	\$4,500.00	\$9,000.00	\$8,100.00	\$16,200.00
1103.9	1.00	EA	Open Cut Point Repairs for 18" or 21" Pipe sizes, (>16' depth)	\$6,000.00	\$6,000.00	\$5,500.00	\$5,500.00	\$10,800.00	\$10,800.00
1100.7	1.30			70,000.00	45,000.00	45,500.00	42,200.00	420,000.00	1 420,000.00

PROPOSAL:  PROPOSAL:  Journal of the second		P. O. BOX 2449 SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job No. 12-0109 (O&M) & 12-1402 (CIP) 2012 Annual Sanitary Sewer Main Point Repair and Manhole Adjustments - Package 2 11:00 A.M. May 30, 2012		Austin Constructors, LLC. 7907 S. FM 973 Austin, TX 78617		PM Construction & Rehab, LLC 131 N. Richey Pasadena, TX 77506		National Power Rodding Corp. 9810 FM 969 Austin, TX 78724	
Item No.	Estimate Qty	Unit of Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total
1103.1	2.00	EA	Open Cut Point Repairs for 24" Pipe Size, (0'-10' depth)	\$4,700.00	\$9,400.00	\$3,900.00	\$7,800.00	\$7,800.00	\$15,600.00
1103.11	1.00	EA	Open Cut Point Repairs for 24" Pipe Size, (10'-16' depth)	\$5,200.00	\$5,200.00	\$4,200.00	\$4,200.00	\$10,000.00	\$10,000.00
1103.12	1.00	EA	Open Cut Point Repairs for 24" Pipe Size, (>16' depth)	\$5,700.00	\$5,700.00	\$6,500.00	\$6,500.00	\$11,200.00	\$11,200.00
1103.13	2,500.00	LF	Extra length point repair, 8" -10" pipe diameter, all depths	\$90.00	\$225,000.00	\$80.00	\$200,000.00	\$83.00	\$207,500.00
1103.14	760.00	LF	Extra length point repair, 12" -18" pipe diameter, all depths	\$118.00	\$89,680.00	\$115.00	\$87,400.00	\$110.00	\$83,600.00
1103.15	20.00	LF	Extra length point repair, 21" - 24" pipe diameter, all depths	\$130.00	\$2,600.00	\$175.00	\$3,500.00	\$165.00	\$3,300.00
1103.16	8.00	EA	Open Lateral Reconnection, all sizes, all depths	\$975.00			\$7,600.00	\$940.00	\$7,520.00
1103.17	4.00	EA	Protruding Tap Removal	\$3,600.00	\$14,400.00	\$500.00	\$2,000.00	\$250.00	\$1,000.00
1103.18	1.00	EA	CIPP Point Repair for 8" Pipe Size, all depths	\$4,800.00	\$4,800.00	\$5,600.00	\$5,600.00	\$2,200.00	\$2,200.00
1103.19	1.00	EA	CIPP Point Repair for 10" Pipe Size, all depths	\$4,800.00	\$4,800.00	\$5,800.00	\$5,800.00	\$2,200.00	\$2,200.00
1103.2	1.00	EA	CIPP Point Repair for 12" Pipe Size, all depths	\$6,600.00	\$6,600.00	\$6,000.00	\$6,000.00	\$2,400.00	\$2,400.00
1103.21	1.00	EA	CIPP Point Repair for 15" Pipe Size, all depths	\$8,000.00	\$8,000.00	\$6,300.00	\$6,300.00	\$2,400.00	\$2,400.00
1103.22	1.00	EA	CIPP Point Repair for 18" Pipe Size, all depths	\$8,500.00	\$8,500.00	\$6,800.00	\$6,800.00	\$2,600.00	\$2,600.00
1103.23	1.00	EA	CIPP Point Repair for 21" Pipe Size, all depths	\$8,800.00	\$8,800.00	\$7,400.00	\$7,400.00	\$2,600.00	\$2,600.00

Prepared by EH						7)				
Solicitation # B-12-029-DD Contract Id: C-12-036-DD				7;		ITC		corp.		
SAN ANTONIO WATER SYSTEM			LLC			90				
		P. O. BOX SAN ANT	C 2449 CONIO, TEXAS 78298-2449	tors, L 1 973 78617		Rehab, they 77506		odding 969 78724		
			TABULATION OF BIDS  Job No. 12-0109 (O&M) & 12-1402 (CIP)  2012 Annual Sanitary Sewer Main Point Repair and  Manhole Adjustments - Package 2		Austin Constructors, 7907 S. FM 973 Austin, TX 7861		PM Construction & Rehab, 131 N. Richey Pasadena, TX 77506		National Power Rodding 9810 FM 969 Austin, TX 78724	
PROPOSAL	PROPOSAL:									
TIME &	TIME &		11:00 A.M.							
DATE:	DATE: May 30,		012							
Item No.	Estimate Qty	Unit of Issue	Description	II:4 D	T-4-1	II!4 D	T-4-1	II!4 D!	T-4-1	
item No.	Estimate Qty	Issue	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	
1103.23	1.00	EA	CIPP Point Repair for 24" Pipe Size, all depths	\$10,000.00	\$10,000.00	\$7,800.00	\$7,800.00	\$3,000.00	\$3,000.00	
1100	<b>7</b> 00	T. 4		<b>#1 #200</b> 000	фо ооо оо	ф <b>25</b> 0.00	ф1 <b>25</b> 0 00	ф <b>25</b> 0.00	φ1 <b>25</b> 0 00	
1109	5.00	EA	Remote Service Reconnection, Internal Cut	\$1,600.00	\$8,000.00	\$250.00	\$1,250.00	\$250.00	\$1,250.00	
4438	60.00	CY	Flowable Backfill (TxDOT Spec)	\$120.00	\$7,200.00	\$130.00	\$7,800.00	\$120.00	\$7,200.00	
	Total Bid				\$799,335.00		\$800,365.00		\$918,315.00	
CALENDA	CALENDAR DAYS TO COMPLETE				730		730		730	